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Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 

600 words : 

What are the characteristics of a good story ? What 

kind of integration can be brought out by this 

strategy ? Explain with examples. 

OR 

Select any two natural phenomena. Explain how 

these phenomena can be used for facilitating 

learning in an integrated way. 

2. Answer the following question in about 

600 words : 

Give examples of experiments from subjects other 

than science. How will you achieve integration 

through conduct of experiments ? 

OR 
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What are the common components of Integrated 

Learning Approach ? Explain any one of those 

components for its relevance and importance. 

	

3. 	Answer any four of the following questions in 
about 150 words each. 

(a) How can resources outside the classroom 

be used in an integrated learning 

approach ? 

(b) List 3 games which can be played by the 

whole class. Explain with examples how 

these games can be used to integrate 

concepts from 2-3 subjects. 

(c) How can Experiential Learning be planned 

through Field visits ? 

(d) State and explain 5 criteria for selecting a 

theme for a "Project". Give at least one 

example of each criterion. 

(e) What is a 'Learning style' ? State 3 categories 

of Learning style. Explain one of them in 

detail. 

(f) Discuss Multi Grade Integration with 

illustrations. 

	

4. 	Answer the following question in about 
600 words. 

Discuss the steps in planning Integration in 

classroom teaching, with illustrations. 
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